HEX NUTS ZINC

NYLON INSERT LOCK NUTS ZINC

ACORN NUTS NICKEL PLATED

TEE NUTS ZINC

USS FLAT WASHERS ZINC

SAE FLAT WASHERS ZINC

FENDER WASHERS ZINC

SPLIT LOCK WASHERS ZINC

COUNTERSUNK FINISHING WASHERS NICKEL PLATED
INTERNAL TOOTH LOCKWASHERS ZINC

EXTERNAL TOOTH LOCKWASHERS ZINC

DRYWALL SCREWS BLACK FINE

DRYWALL SCREWS BLACK COARSE

DRYWALL SCREWS YELLOW ZINC

SELF DRILLING DRYWALL SCREWS BLACK

DECK SCREWS DACROTIZED

TRIM HEAD SQUARE DRIVE DRYWALL SCREWS BLACK

TRIM HEAD PHILLIPS DRIVE DRYWALL SCREWS BLACK

Grattan

FASTENING PRODUCTS



Clam Shell Pack (Seepack]

K-LATH PHILLIPS SELF DRILLING SCREWS ZINC s. 1
K-LATH PHILLIPS SHARP POINT SCREWS ZINC t 1
PAN FRAMING SELF DRILLING SCREWS BLACK u. 1
PAN FRAMING SHARP POINT BLACK CHROME v. 1
INDENT HWH SELF DRILLING SCREWS ZINC w. 1
PAN HEAD PHILLIPS SELF DRILLING SCREWS ZINC x. 1
FLAT PHIL SELF DRILLING SCREWS ZINC y. 1
HEX HEAD SELF DRILLING SCREWS W,/BONDED SEALER WASHER ZINC z. 1
ROOFING SCREWS W/SEALER WASHER HDG aa. 1
TRUCK BED SELF DRILLING SCREWS ab. 1
FLAT HEAD SQ DRIVE DECK SCREWS TYPE 17 18-8SS ac. 1
TRIM HEAD SQUARE DRIVE DECK SCREWS TYPE 17 18-8SS ad. 1
6 LOBE FLAT HEAD DECK SCREWS 305 STAINLESS ae. 1
FLAT PHILLIPS PARTICLE BOARD SCREWS af. 1
TRUSS PHILLIPS AUDIO BLACK SCREWS ag. 1
OUTDOOR DRYWALL DECK SCREWS STAR FLAT HEAD W,/NIBBS TYPE 17 18-8SS ah. 1
JAX PRO OUTDOOR W0OOD SCREWS STAR FLAT HEAD ai. 1
CEMENT BOARD SCREWS FLAT COMBO DRIVE GREEN COATING a. 1
CEMENT BOARD SCREWS FLAT COMBO DRIVE GREEN COATING ak. 1
INDENT HEX HEAD SHEET METAL SCREWS ZINC al. 1
PAN PHILLIPS SHEET METAL SCREWS ZINC am. 1-2
FLAT PHILLIPS SHEET METAL SCREWS ZINC an. 1-2
FLAT PHILLIPS WOOD SCREWS ZINC ao. 1-2
BRASS FLAT PHILLIPS WOOD SCREWS ap. 1
ROUND SLOTTED MACHINE SCREWS ZINC ag. 1-2
FLAT SLOTTED MACHINE SCREWS ZINC ar. 1-2
TRUSS HEAD MACHINE SCREWS ZINC as. 1
FLAT PHILLIPS MACHINE SCREWS ZINC at. 1-2

PAN PHILLIPS MACHINE SCREWS ZINC au. 1-2



Clam Shell Pack (Seepack]

PAN PHILLIPS SHEET METAL SCREW 18-85S av. 1
FLAT PHILLIPS SHEET METAL SCREWS 18-85S aw. 1
OVAL PHILLIPS SHEET METAL SCREWS 18-8SS ax. 1
FLAT PHILLIPS MACHINE SCREWS 18-8SS ay. 1
PAN PHILLIPS MACHINE SCREWS 18-85S az. 1
BREAK AWAY SCREWS ZINC ba. 1
PLASTIC PLUGS bb. 1
PLASTIC PLUGS W,/SCREWS bc. 1
RIBBED PLASTIC ANCHOR W/SCREWS bc. 2
STRAIGHT PLASTIC PLUGS bd. 1
E-Z ANCHORS be. 1
PAN HEAD COMBO HOLLOW WALL ANCHORS ZINC bf. 1
MUSHROOM HEAD TOGGLE BOLTS bg. 1
TRUSS HEAD TOGGLE BOLTS bg. 2
TOGGLE ANCHORS bh. 1
STRAP TOGGLES bi. 1
NAIL IN ANCHORS bj. 1
CONCRETE SCREWS BLUE FINISH bk. 1
HEX HEAD CONCRETE SCREWS bl. 1
SCREW COVERS bm. 1
BRASS CUP HOOKS bn. 1

COTTER PINS ASSORTMENT bo. 1



CLAM SHELL PACK (SEEPACK)

PN

7 @

\~/

~ HEX NUTS ZINC

R Bokrs DESCRPTION 2o woor oo
C15005 325120 HEX MACHINE SCREW NUTS ZINC 6-32 100 PM 325
C15006 325140 HEX MACHINE SCREW NUTS ZINC 8-32 100 PM 325
C15007 325160 HEX MACHINE SCREW NUTS ZINC 10-24 100 PM 325
C15008 325280 HEX MACHINE SCREW NUTS ZINC 10-32 100 PM 325
C16001 319025 HEX NUTS ZINC 1/4-20 100 PM 319
C16002 319050 HEX NUTS ZINC 5/16-18 100 PM 319
C16003 319075 HEX NUTS ZINC 3/8-16 50 PM 319
C16004 319100 HEX NUTS ZINC 7/16-14 25 PM 319
C16005 319125 HEX NUTS ZINC 1/2-13 25 PM 319
C16007 319175 HEX NUTS ZINC 5/8-11 15 PM 319
C16008 319200 HEX NUTS ZINC 3/4-10 10 PM 319

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)




CLAM SHELL PACK (SEEPACK)

NYLON INSERT LOCK NUTS ZINC

PART | paRT# DESCRIPTION siE QT GODE  GODE
C28002 305009  NYLON INSERT LOCKNUTS ZINC 6-32 100 PM 305
C28003 305011 NYLON INSERT LOCKNUTS ZINC 8-32 100 PM 305
C28004 305013  NYLON INSERT LOCKNUTS ZINC 10-24 100 PM 305
C28005 305025  NYLON INSERT LOCKNUTS ZINC 10-32 100 PM 305
C28006 305164  NYLON INSERT LOCKNUTS ZINC 1/4-20 100 PM 305
C28007 305166  NYLON INSERT LOCKNUTS ZINC 5/16-18 100 PM 305
C28008 305168  NYLON INSERT LOCKNUTS ZINC 3/8-16 50 PM 305
C28009 305170  NYLON INSERT LOCKNUTS ZINC 7/16-14 25 PM 305
C28010 305172  NYLON INSERT LOCKNUTS ZINC 1/2-13 25 PM 305

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

b. 1



CLAM SHELL PACK (SEEPACK)

—
(O)
\ ~ s ACORN NUTS NICKEL PLATED
GRATIN 881 pescrupron 0 W, ey
C32001 301013  ACORN NUTS NICKEL PLATED 6-32 100 PM 301
C32002 301015 ACORN NUTS NICKEL PLATED 8-32 100 PM 301
C32003 301017  ACORN NUTS NICKEL PLATED 10-24 100 PM 301
C32004 301018 ACORN NUTS NICKEL PLATED 10-32 100 PM 301
C32005 301021 ACORN NUTS NICKEL PLATED 1/4-20 100 PM 301
C32006 133023  ACORN NUTS NICKEL PLATED 5/16-18 50 PM 133
C32007 301025 ACORN NUTS NICKEL PLATED 3/8-16 50 PM 301

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

TEE NUTS ZINC

©
ana

PART | paRT# DESCRIPTION siE QT GODE  GODE
C35001 302010  TEE NUTS 3 PRONG ZINC 6-32 100 PM 302
C35002 302020 TEE NUTS 3 PRONG ZINC 8-32 100 PM 302
C35003 302030 TEE NUTS 3 PRONG ZINC 10-24 100 PM 302
C35004 302040 TEE NUTS 3 PRONG ZINC 10-32 100 PM 302
C35005 302060 TEE NUTS 3 PRONG ZINC 1/4-20 50 PM 302
C35006 302080 TEE NUTS 3 PRONG ZINC 5/16-18 25 PM 302
C35007 302100 TEE NUTS 3 PRONG ZINC 3/8-16 25 PM 302

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com d 1



CLAM SHELL PACK (SEEPACK)

USS FLAT WASHERS ZINC

PART | paRT# DESCRIPTION siE QT GODE  GODE
C42002 P43002 USS FLAT WASHERS ZINC 1/4 100 PM P43
C42003 P43003 USS FLAT WASHERS ZINC 5/16 100 PM P43
C42004 P43004 USS FLAT WASHERS ZINC 3/8 50 PM P43
C42005 P43005 USS FLAT WASHERS ZINC 7/16 50 PM P43
C42006 P43006  USS FLAT WASHERS ZINC 1/2 25 PM P43
C42008 P43008 USS FLAT WASHERS ZINC 5/8 15 PM P43
C42009 P43009 USS FLAT WASHERS ZINC 3/4 10 PM P43

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com e. 1



CLAM SHELL PACK (SEEPACK)

SAE FLAT WASHERS ZINC

PART | paRT# DESCRIPTION siE QT GODE  GODE
C43002 P46001  SAE FLAT WASHERS ZINC #6 100 PM P46
C43003 P46002  SAE FLAT WASHERS ZINC #3 100 PM P46
C42001 P46003  SAE FLAT WASHERS ZINC #10 100 PM P46
C43005 P46090  SAE FLAT WASHERS ZINC #12 100 PM P46
C43006 P46004  SAE FLAT WASHERS ZINC 1/4 100 PM P46
C43007 P46005 SAE FLAT WASHERS ZINC 5/16 100 PM P46
C43008 P46006  SAE FLAT WASHERS ZINC 3/8 50 PM P46
C43009 P46007  SAE FLAT WASHERS ZINC 7/16 50 PM P46
C43010 P46008  SAE FLAT WASHERS ZINC 1/2 25 PM P46

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

f.1



CLAM SHELL PACK (SEEPACK)

FENDER WASHERS ZINC
GRATIN 881 pescrupron 0 W, ey
C46001 P36111 FENDER WASHERS ZINC 1/8 X 1 100 PM P36
C46002 P36129 FENDER WASHERS ZINC 3/16 X 11/8 50 PM P36
C46003 P36145 FENDER WASHERS ZINC 1/4 X1 1/4 50 PM P36
C46005 P36180 FENDER WASHERS ZINC 516 X 11/2 25 PM P36
C46006 P36205 FENDER WASHERS ZINC 3/8X11/2 25 PM P36
C46007 P36230 FENDER WASHERS ZINC 112X11/2 25 PM P36

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

g1



CLAM SHELL PACK (SEEPACK)

SPLIT LOCK WASHERS ZINC
GRATIN 881 pescrupron 0 W, ey
C47002 349002 SPLIT LOCK WASHERS ZINC #6 100 PM 349
C47003 349003 SPLIT LOCK WASHERS ZINC #8 100 PM 349
C47004 349004 SPLIT LOCK WASHERS ZINC #10 100 PM 349
C47006 349006 SPLIT LOCK WASHERS ZINC 1/4 100 PM 349
C47007 349007 SPLIT LOCK WASHERS ZINC 5/16 100 PM 349
C47008 349008 SPLIT LOCK WASHERS ZINC 3/8 100 PM 349
C47009 349009 SPLIT LOCK WASHERS ZINC 716 100 PM 349
C47010 349010 SPLIT LOCK WASHERS ZINC 1/2 50 PM 349

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

h. 1



CLAM SHELL PACK (SEEPACK)

COUNTERSUNK FINISHING WASHERS NICKEL PLATED

L\

GRATIN 881 pescrupron 0 W, ey
C49002 253031 FINISHING WASHERS NICKEL PLATED #6 100 PM 253
C49003 253036 FINISHING WASHERS NICKEL PLATED #8 100 PM 253
C49004 253041 FINISHING WASHERS NICKEL PLATED #10 100 PM 253
C49005 253046 FINISHING WASHERS NICKEL PLATED #12 100 PM 253
C49006 253049 FINISHING WASHERS NICKEL PLATED #14 100 PM 253

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513 .
grattanfasteners.com i1



CLAM SHELL PACK (SEEPACK)

INTERNAL TOOTH LOCKWASHERS ZINC

PART | paRT# DESCRIPTION siE QT GODE  GODE
C50002 240030 INTERNAL TOOTH LOCKWASHERS ZINC #6 100 PM 240
C50003 240040  INTERNAL TOOTH LOCKWASHERS ZINC #3 100 PM 240
C50004 240050  INTERNAL TOOTH LOCKWASHERS ZINC #10 100 PM 240
C50006 240070  INTERNAL TOOTH LOCKWASHERS ZINC 1/4 100 PM 240
C50007 240080 INTERNAL TOOTH LOCKWASHERS ZINC 5/16 100 PM 240
C50008 240090  INTERNAL TOOTH LOCKWASHERS ZINC 3/8 100 PM 240
C50010 240110  INTERNAL TOOTH LOCKWASHERS ZINC 172 100 PM 240

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513 .
grattanfasteners.com 1



CLAM SHELL PACK (SEEPACK)

EXTERNAL TOOTH LOCKWASHERS ZINC

PART | paRT# DESCRIPTION siE QT GODE  GODE
C51002 239030 EXTERNAL TOOTH LOCKWASHERS ZINC #6 100 PM 239
C51003 239040 EXTERNAL TOOTH LOCKWASHERS ZINC #3 100 PM 239
C51004 239050 EXTERNAL TOOTH LOCKWASHERS ZINC #10 100 PM 239
C51006 239070  EXTERNAL TOOTH LOCKWASHERS ZINC 1/4 100 PM 239
C51007 239080 EXTERNAL TOOTH LOCKWASHERS ZINC 5/16 100 PM 239
C51008 239090 EXTERNAL TOOTH LOCKWASHERS ZINC 3/8 100 PM 239
C51010 239110  EXTERNAL TOOTH LOCKWASHERS ZINC 172 100 PM 239

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

k.1



CLAM SHELL PACK (SEEPACK)

T

DRYWALL SCREWS BLACK FINE

PART | paRT# DESCRIPTION siE QT GODE  GODE
C55001 064021 FINE DRYWALL SCREWS BLACK #6 X 1 100 PM 064
C55002 064031 FINE DRYWALL SCREWS BLACK #6 X 11/8 100 PM 064
C55003 064041 FINE DRYWALL SCREWS BLACK #6 X 11/4 100 PM 064
C55004 064061 FINE DRYWALL SCREWS BLACK #6 X 15/8 100 PM 064
C55005 064071 FINE DRYWALL SCREWS BLACK #6 X 2 50 PM 064
C55006 064527  FINE DRYWALL SCREWS BLACK #7 X2 1/4 100 PM 634
C55007 064101 FINE DRYWALL SCREWS BLACK #8X21/2 50 PM 064
C55008 064111 FINE DRYWALL SCREWS BLACK #8 X 3 50 PM 064

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

%% DRYWALL SCREWS BLACK COARSE
GRATIN 881 pescrupron 0 W, ey
C55020 064020 COARSE DRYWALL SCREWS BLACK #6 X 1 100 PM 064
C55021 064030 COARSE DRYWALL SCREWS BLACK #6 X 11/8 100 PM 634
C55022 064040 COARSE DRYWALL SCREWS BLACK #6 X 1 1/4 100 PM 064
C55023 064060 COARSE DRYWALL SCREWS BLACK #6 X 1 5/8 100 PM 064
C55024 064070 COARSE DRYWALL SCREWS BLACK #6 X 2 50 PM 064
C55026 064100 COARSE DRYWALL SCREWS BLACK #8X21/2 50 PM 064
C55027 064110 COARSE DRYWALL SCREWS BLACK #8-8 X 3 50 PM 064

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

"

DRYWALL SCREWS YELLOW ZINC

GRATIN 881 pescrupron 0 W, ey
C56003 070030 DRYWALL SCREWS ZINC YELLOW #6 X 11/4 75 PM 070
C56004 070040 DRYWALL SCREWS ZINC YELLOW #6 X 15/8 75 PM 070
C56005 070050 DRYWALL SCREWS ZINC YELLOW #6 X 2 50 PM 070
C56007 070070 DRYWALL SCREWS ZINC YELLOW #8X21/2 50 PM 070
C56008 070080 DRYWALL SCREWS ZINC YELLOW #8 X 3 50 PM 070

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)




CLAM SHELL PACK (SEEPACK)

@ SELF DRILLING DRYWALL SCREWS BLACK

GRATIN 881 pescrupron 0 W, ey
C55028 689138 SELF DRILLING DRYWALL SCREWS BLACK #6 X 1 100 PM 689
C55029 689142 SELF DRILLING DRYWALL SCREWS BLACK #6 X 11/4 100 PM 689
C55030 689145 SELF DRILLING DRYWALL SCREWS BLACK #6 X 1 5/8 100 PM 689
C55031 689147 SELF DRILLING DRYWALL SCREWS BLACK H#E6 X 17/8 100 PM 689
C55040 689169 SELF DRILLING DRYWALL SCREWS BLACK #8 X 2 3/8 50 PM 689
C55041 689171 SELF DRILLING DRYWALL SCREWS BLACK #8 X 2 5/8 50 PM 689
C55042 689175 SELF DRILLING DRYWALL SCREWS BLACK #8 X 3 50 PM 689

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

%% DECK SCREWS DACROTIZED
GRATIN 881 pescrupron 0 W, ey
C55072 687046 DECK SCREWS DACROTIZED #6 X 1 100 PM 687
C55074 687050 DECK SCREWS DACROTIZED #6 X 11/4 100 PM 687
C55075 687054 DECK SCREWS DACROTIZED #6 X 1 5/8 100 PM 687
C55076 687058 DECK SCREWS DACROTIZED #6 X 2 50 PM 687
C55077 687080 DECK SCREWS DACROTIZED #8 X 21/2 50 PM 687
C55078 687084 DECK SCREWS DACROTIZED #8 X3 50 PM 687

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com P- 1



CLAM SHELL PACK (SEEPACK)

: TRIM HEAD SQUARE DRIVE DRYWALL SCREWS BLACK
GRATTAN BBI BOX VD FAMILY
PART#  PART# DESCRIPTION SIZE QTY  CODE CODE
C55032 064400  TRIM HEAD SQUARE DRIVE DRYWALL SCREWS BLACK ~ #6 X 15/8 50 PM 634
C55033 064401  TRIM HEAD SQUARE DRIVE DRYWALL SCREWS BLACK  #6 X 2 1/4 50 PM 634

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com qg. 1



CLAM SHELL PACK (SEEPACK)

@
D -

TRIM HEAD PHILLIPS DRIVE DRYWALL SCREWS BLACK

GRATTAN BBI BOX VD FAMILY
PART# PART # DESCRIPTION SIZE QTY CODE CODE
C55045 634600 TRIM HEAD PHIL DRYWALL SCREWS BLACK #6 X 15/8 50 PM 634
C55046 634610  TRIM HEAD PHIL DRYWALL SCREWS BLACK #6 X2 1/4 50 PM 634

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com r1



CLAM SHELL PACK (SEEPACK)

K-LATH PHILLIPS SELF DRILLING SCREWS ZINC

GRATIN 881 pescrupron o W Ay
C55034 693620 K-LATH PHIL SELF DRILLING SCREWS ZINC #8 X 1/2 100 PM 693
C55035 693622 K-LATH PHIL SELF DRILLING SCREWS ZINC #8 X 3/4 100 PM 693
C55036 693624 K-LATH PHIL SELF DRILLING SCREWS ZINC #8 X 1 100 PM 693
C55037 693626 K-LATH PHIL SELF DRILLING SCREWS ZINC #8 X 11/4 50 PM 693

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

K-LATH PHILLIPS SHARP POINT SCREWS ZINC

GRATIN 881 pescrupron 0 W, ey
C55050 692703 K-LATH SHARP POINT ZINC #8 X 1/2 100 PM 692
C55051 692706 K-LATH SHARP POINT ZINC #8 X 3/4 100 PM 692
C55052 692711 K-LATH SHARP POINT ZINC #38 X 1 100 PM 692
C55053 692713 K-LATH SHARP POINT ZINC #8 X 11/4 50 PM 692

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

t. 1



CLAM SHELL PACK (SEEPACK)

®

PAN FRAMING SELF DRILLING SCREWS BLACK

GRATTAN BBI BOX VD FAMILY
PART# PART # DESCRIPTION SIzE QTY CODE CODE
C55060 R51676  SELF DRILLING SCREWS PAN FRAMING BLACK #6 X 7/16 100 PM R51

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

PAN FRAMING SHARP POINT BLACK CHROME

GRATTAN BBI BOX VD FAMILY
PART# PART # DESCRIPTION SIZE QTY CODE CODE
C55061 HO01676  SHARP POINT PAN FRAMING SCREWS BLACK CHROME  #6 X 7/16 100 PM HO1

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

@

INDENT HWH SELF DRILLING SCREWS ZINC

PART | paRT# DESCRIPTION siE QT GODE  GODE

C58035 693015  IND HWH SELF DRILLING SCREWS ZINC #6 X 1/2 100 PM 693

C58036 693020  IND HWH SELF DRILLING SCREWS ZINC #6 X 3/4 100 PM 693

C58020 693050  IND HWH SELF DRILLING SCREWS ZINC #8 X 1/2 100 PM 693

C58021 693060  IND HWH SELF DRILLING SCREWS ZINC #8 X 3/4 100 PM 693

C58022 693065 IND HWH SELF DRILLING SCREWS ZINC #8 X 1 100 PM 693

C58023 693070  IND HWH SELF DRILLING SCREWS ZINC #8 X 1 1/4 100 PM 693

C58024 693085  IND HWH SELF DRILLING SCREWS ZINC #8 X 11/2 100 PM 693

C58042 693100  IND HWH SELF DRILLING SCREWS ZINC #8 X 2 50 PM 693

C58026 693135  IND HWH SELF DRILLING SCREWS ZINC #10 X 3/4 100 PM 693

C58027 693140  IND HWH SELF DRILLING SCREWS ZINC #10 X1 100 PM 693

C58028 693145  IND HWH SELF DRILLING SCREWS ZINC #10 X 1 1/4 50 PM 693

C58029 693150  IND HWH SELF DRILLING SCREWS ZINC #10 X 11/2 50 PM 693

C58039 693155  IND HWH SELF DRILLING SCREWS ZINC #10 X 2 50 PM 693

C58030 693170  IND HWH SELF DRILLING SCREWS ZINC #12 X 3/4 100 PM 693

C58031 693175  IND HWH SELF DRILLING SCREWS ZINC #12 X1 50 PM 693

C58050 693180  IND HWH SELF DRILLING SCREWS ZINC #12X11/4 50 PM 693 g

C58051 693120  IND HWH SELF DRILLING SCREWS ZINC #12 X 11/2 50 PM 693 E

C58052 693195  IND HWH SELF DRILLING SCREWS ZINC #12 X2 50 PM 693 H

C58033 693230  IND HWH SELF DRILLING SCREWS ZINC #14 X1 50 PM 693 Q

C58053 693235  IND HWH SELF DRILLING SCREWS ZINC #14 X1 1/4 25 PM 693 %

C58034 693240  IND HWH SELF DRILLING SCREWS ZINC #14 X 11/2 25 PM 693 E

C58054 693250  IND HWH SELF DRILLING SCREWS ZINC #14 X 2 25 PM 693 d
L
&
=
<
o

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

TP

PAN HEAD PHILLIPS SELF DRILLING SCREWS ZINC

PART | paRT# DESCRIPTION siE QT GODE  GODE
C58055 693335  PAN PHIL SELF DRILLING SCREWS ZINC #6 X 1/2 100 PM 693
C58071 693345  PAN PHIL SELF DRILLING SCREWS ZINC #6 X 3/4 100 PM 693
C58056 693370  PAN PHIL SELF DRILLING SCREWS ZINC #8 X 1/2 100 PM 693
C58058 693380  PAN PHIL SELF DRILLING SCREWS ZINC #8 X 3/4 100 PM 693
C58059 693385  PAN PHIL SELF DRILLING SCREWS ZINC #8 X 1 100 PM 693
C58060 693390  PAN PHIL SELF DRILLING SCREWS ZINC #8 X 1 1/4 100 PM 693
C58061 693395  PAN PHIL SELF DRILLING SCREWS ZINC #8 X 11/2 100 PM 693
C58064 693420  PAN PHIL SELF DRILLING SCREWS ZINC #10 X 3/4 100 PM 693
C58065 693425  PAN PHIL SELF DRILLING SCREWS ZINC #10 X 1 100 PM 693
C58066 693430  PAN PHIL SELF DRILLING SCREWS ZINC #10X 1 1/4 100 PM 693
C58067 693435  PAN PHIL SELF DRILLING SCREWS ZINC #10 X 1 1/2 50 PM 693
C58068 693440  PAN PHIL SELF DRILLING SCREWS ZINC #10 X 2 50 PM 693

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com x. 1



CLAM SHELL PACK (SEEPACK)

TP

FLAT PHIL SELF DRILLING SCREWS ZINC

PART | paRT# DESCRIPTION siE Q™ GODE GODE
C58201 693530  FLAT PHIL SELF DRILLING SCREWS ZINC #6 X 1/2 100 PM 693
C58202 693535  FLAT PHIL SELF DRILLING SCREWS ZINC #06 X 3/4 100 PM 693
C58203 693540  FLAT PHIL SELF DRILLING SCREWS ZINC #6 X 1 100 PM 693
C58204 693545  FLAT PHIL SELF DRILLING SCREWS ZINC #8 X 1/2 100 PM 693
C58205 693550  FLAT PHIL SELF DRILLING SCREWS ZINC #8 X 3/4 100 PM 693
C58206 693555  FLAT PHIL SELF DRILLING SCREWS ZINC #8 X 1 100 PM 693
C58207 693560  FLAT PHIL SELF DRILLING SCREWS ZINC #3 X 1 1/4 100 PM 693
C58208 693565  FLAT PHIL SELF DRILLING SCREWS ZINC #8 X 11/2 100 PM 693
C58209 693568  FLAT PHIL SELF DRILLING SCREWS ZINC #8 X 2 50 PM 693
C58210 693575  FLAT PHIL SELF DRILLING SCREWS ZINC #10 X 3/4 100 PM 693
C58211 693580  FLAT PHIL SELF DRILLING SCREWS ZINC #10 X 1 100 PM 693
C58228 693585  FLAT PHIL SELF DRILLING SCREWS ZINC #10X 1 1/4 40 PM 693
C58212 693590  FLAT PHIL SELF DRILLING SCREWS ZINC #10 X 1 1/2 50 PM 693
C58213 693591 FLAT PHIL SELF DRILLING SCREWS ZINC #10 X 2 50 PM 693
C58216 693599  FLAT PHIL SELF DRILLING SCREWS ZINC #12 X1 100 PM 693
C58217 693603  FLAT PHIL SELF DRILLING SCREWS ZINC #12 X1 1/2 50 PM 693
C58218 693605  FLAT PHIL SELF DRILLING SCREWS ZINC #12 X 2 50 PM 693

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com Y. 1



CLAM SHELL PACK (SEEPACK)

HEX HEAD SELF DRILLING SCREWS W/
BONDED SEALER WASHER ZINC

GRATTAN BBI BOX VD FAMILY

PART# PART # DESCRIPTION SIZE QTY CODE CODE

CW5826 669108 HEX HEAD SELF DRILLING SCREWS W/BONDED WASHER #10 X 3/4 50 PM 669
ZINC

Cwbs827 669112  HEX HEAD SELF DRILLING SCREWS W/BONDED WASHER #10 X 1 50 PM 669
ZINC

Cws829 669120 HEX HEAD SELF DRILLING SCREWS W/BONDED WASHER #10 X 1 1/2 25 PM 669
ZINC

CW5831 669138 HEXHEAD SELF DRILLING SCREWS W/BONDED WASHER #12 X 1 50 PM 669
ZINC

CW5833 669168 HEX HEAD SELF DRILLING SCREWS W/BONDED WASHER #14 X 1 25 PM 669
ZINC

Cwbs834 669176  HEX HEAD SELF DRILLING SCREWS W/BONDED WASHER #14 X 1 1/2 25 PM 669
ZINC

Cws850 669142 HEX HEAD SELF DRILLING SCREWS W/BONDED WASHER #12 X 1 1/4 25 PM 638
ZINC

CW5851 669146 HEX HEAD SELF DRILLING SCREWS W/BONDED WASHER #12 X 1 1/2 25 PM 669
ZINC

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

mme=

ROOFING SCREWS W /SEALER WASHER HDG

GRATTAN BBI BOX VD FAMILY
PART# PART # DESCRIPTION SIZE QTY CODE CODE
C188050 969027 ROOFING SCREW SELF DRILLING W/NEO WASHER #10 X 1 40 PM 969
C188051 969A85 ROOFING SCREW SELF DRILLING W/NEO WASHER #10 X1 1/2 35 PM 969

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com aa. 1



CLAM SHELL PACK (SEEPACK)

TRUCK BED SELF DRILLING SCREWS

D—cc

GRATIN 881 pescrupron 0 W, ey
C58100 693984 TRUCK BED SCREW SELF DRILLING ZINC 1/4 X 2 3/4 25 PM 693
C58101 693971 TRUCK BED SCREW SELF DRILLING ZINC #10X 17/16 25 PM 693
C58102 693972 TRUCK BED SCREW SELF DRILLING ZINC #12 X 2 25 PM 693
C58103 693973 TRUCK BED SCREW SELF DRILLING ZINC #12X21/2 25 PM 693
C58104 693986 TRUCK BED SCREW SELF DRILLING ZINC 1/4 X3 1/4 25 PM 693
C58105 693988 TRUCK BED SCREW SELF DRILLING ZINC 1/4 X 3 3/4 25 PM 693

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

ab. 1



CLAM SHELL PACK (SEEPACK)

©

FLAT HEAD SQ DRIVE DECK SCREWS TYPE 17 18-8SS

GRATIN 881 pescrupron 0 W, ey
C59041 V04313 FLAT HEAD SQ DR DECK SCREWS 18-8SS TYPE 17 #8 X 11/4 25 PM V04
C59042 V04317  FLAT HEAD SQ DR DECK SCREWS 18-8SS TYPE 17 #8 X 1 5/8 25 PM V04
C59043 V04453  FLAT HEAD SQ DR DECK SCREWS 18-8SS TYPE 17 #10 X 2 25 PM V04
C59044 V04437  FLAT HEAD SQ DR DECK SCREWS 18-8SS TYPE 17 #10X 21/2 25 PM V04
C59045 V04439 FLAT HEAD SQ DR DECK SCREWS 18-8SS TYPE 17 #10X 3 25 PM V04

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com ac. 1



CLAM SHELL PACK (SEEPACK)

©

TRIM HEAD SQUARE DRIVE DECK SCREWS TYPE 17 18-85S

[P

GRATIN 881 pescrupron 0 W, ey
C59051 V02670 $$||3N|l:|:$ 188(-)822 P HIZAD DIECIS SERENS #7 X 15/8 50 PM V02
C59052 V02675 $$||3N|l: ':7D 138?822 FLAT HEAD DECK SCREWS #7 X2 1/4 35 PM V02
C59053 V02680 TRIM HD SQ DR FLAT HEAD DECK SCREWS #7 X 3 25 PM V02

TYPE 17 18-8SS

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

ad. 1



CLAM SHELL PACK (SEEPACK)

DSk 6 LOBE FLAT HEAD DECK SCREWS 305 STAINLESS

GRATIN 881 pescrupron 0 W, ey
C59060 P6D050 JAXALL WEATHER SCR STAR DR 305-SS #8 X 11/4 25 PM P6D
C59061 P6D060 JAXALL WEATHER SCR STAR DR 305-SS #8 X 1 5/8 25 PM P6D
C59062 P6D070 JAXALL WEATHER SCR STAR DR 305-SS #8 X 2 25 PM P6D
C59063 P6D100 JAXALL WEATHER SCR STAR DR 305-SS #10X 3 25 PM P6D

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com ae. 1



CLAM SHELL PACK (SEEPACK)

FLAT PHILLIPS PARTICLE BOARD SCREWS

GRATIN 881 pescrupron o W Ay
C59401 717125 FLAT PHIL PARTICLE BOARD SCREWS #8 X 1 100 PM 717
C59402 717126 FLAT PHIL PARTICLE BOARD SCREWS #8 X 11/4 100 PM 717
C59403 717122 FLAT PHIL PARTICLE BOARD SCREWS #8 X 11/2 50 PM 717
C59404 717121 FLAT PHIL PARTICLE BOARD SCREWS #8 X 1 3/4 50 PM 717
C59405 717143 FLAT PHIL PARTICLE BOARD SCREWS #IX21/2 50 PM 717

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

af. 1



CLAM SHELL PACK (SEEPACK)

TRUSS PHILLIPS AUDIO BLACK SCREWS

GRATIN 881 pescrupron 0 W, ey
C59501 969A80 TRUSS PHL AUDIO BLACK #8 X 1/2 100 PM 969
C59502 969A81 TRUSS PHL AUDIO BLACK #8 X 3/4 100 PM 969
C59503 969A82 TRUSS PHL AUDIO BLACK #38 X 1 100 PM 969
C59504 969A83 TRUSS PHL AUDIO BLACK #10 X 1/2 100 PM 969

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

OUTDOOR DRYWALL DECK SCREWS STAR FLAT HEAD W/

D0 NIBBS TYPE 17 18-85S

GRATIN 881 pescrupron 0 W, ey
C59605 966501 JAX ALL WEATHER SCREW STAR DR TYPE 17 18-8SS #8 X 11/4 25 PM P6B
C59606 966F42 JAXALL WEATHER SCREW STAR DR TYPE 17 18-8SS #8 X 1 5/8 25 PM P6B
C59607 966504 JAX ALL WEATHER SCREW STAR DR TYPE 17 18-8SS #8 X 2 25 PM P6B
C59608 966505 JAX ALL WEATHER SCREW STAR DR TYPE 17 18-8SS #IX21/2 25 PM P6B
C59609 966507 JAX ALL WEATHER SCREW STAR DR TYPE 17 18-8SS #9X 3 25 PM P6B

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

ah. 1



CLAM SHELL PACK (SEEPACK)

Dk JAX PRO OUTDOOR WOOD SCREWS STAR FLAT HEAD

PART | paRT# DESCRIPTION siE QT GODE  GODE
C59701 966501  JAX PRO OUTDOOR WOOD SCREWS STAR FLAT HEAD #8 X1 1/4 25 PM 966
C59702 966502  JAX PRO OUTDOOR WOOD SCREWS STAR FLAT HEAD #3 X 1172 25 PM 966
C59703 966503 JAX PRO OUTDOOR WOOD SCREWS STAR FLAT HEAD #8 X 13/4 25 PM 966
C59704 966504 JAX PRO OUTDOOR WOOD SCREWS STAR FLAT HEAD #8 X 2 25 PM 966
C59705 966505 JAX PRO OUTDOOR WOOD SCREWS STAR FLAT HEAD #9 X2 1/2 25 PM 966
C59706 966506  JAX PRO OUTDOOR WOOD SCREWS STAR FLAT HEAD #9 X 2 3/4 25 PM 966
C59707 966507 JAX PRO OUTDOOR WOOD SCREWS STAR FLAT HEAD #IX 3 25 PM 966
C59708 966508 JAX PRO OUTDOOR WOOD SCREWS STAR FLAT HEAD #10 X 2 25 PM 966
C59709 966509 JAX PRO OUTDOOR WOOD SCREWS STAR FLAT HEAD #10 X2 1/2 25 PM 966
C59710 966510 JAX PRO OUTDOOR WOOD SCREWS STAR FLAT HEAD #10 X 3 25 PM 966
C59711 966511 JAX PRO OUTDOOR WOOD SCREWS STAR FLAT HEAD #10 X 3 1/2 25 PM 966
C59712 966512  JAX PRO OUTDOOR WOOD SCREWS STAR FLAT HEAD #10 X 4 25 PM 966

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

\— CEMENT BOARD SCREWS FLAT COMBO DRIVE GREEN COATING

\

GRATIN 881 pescrupron 0 W, ey
C59200 V10110 CEMENT BOARD SELF DRILLING SCREWS #8 X 11/4 50 PM V10
C59201 V10120 CEMENT BOARD SELF DRILLING SCREWS #8 X 1 5/8 50 PM V10
C61004 V10310 CEMENT BOARD SCREWS SELF DRILLING #8 X 1 1/4 25 PM V10
C61005 V10320 CEMENT BOARD SCREWS SELF DRILLING #8 X 15/8 25 PM V10
C61006 V10130 CEMENT BOARD SCREWS SELF DRILLING #8X21/4 25 PM V10

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

aj. 1



CLAM SHELL PACK (SEEPACK)

> CEMENT BOARD SCREWS FLAT COMBO DRIVE GREEN COATING

GRATIN 881 pescrupron 0 W, ey
C61001 V10010 CEMENT BOARD SCREWS SHARP POINT #8 X 11/4 25 P4 V10
C61002 V10020 CEMENT BOARD SCREWS SHARP POINT #8 X 1 5/8 25 P4 V10
C61003 V10030 CEMENT BOARD SCREWS SHARP POINT #8 X2 1/4 25 PM V10
C59300 V10010 CEMENT BOARD SHARP POINT SCREWS #8 X 11/4 50 PM V10
C59301 V10020 CEMENT BOARD SHARP POINT SCREWS #8 X 15/8 50 PM V10

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com ak. 1



CLAM SHELL PACK (SEEPACK)

INDENT HEX HEAD SHEET METAL SCREWS ZINC

PART | paRT# DESCRIPTION siE QT GODE  GODE

C60002 696910 HEX SHEET METAL SCREWS ZINC #4 X 3/8 100 PM 696

C60003 697447  HEX SHEET METAL SCREWS ZINC #4 X 1/2 100 PM 697

C60006 697452  HEX SHEET METAL SCREWS ZINC #6 X 3/8 100 PM 697

C60007 697453  HEX SHEET METAL SCREWS ZINC #6 X 1/2 100 PM 697

C60009 697455  HEX SHEET METAL SCREWS ZINC #6 X 3/4 100 PM 697

C60010 697456  HEX SHEET METAL SCREWS ZINC #6 X 1 100 PM 697

C60011 697556  HEX SHEET METAL SCREWS ZINC #6 X 11/4 100 PM 697

C60012 697458 HEX SHEET METAL SCREWS ZINC #6 X 11/2 100 PM 697

C60015 697463 HEX SHEET METAL SCREWS ZINC #8 X 1/2 100 PM 697

C60016 697464  HEX SHEET METAL SCREWS ZINC #8 X 5/8 100 PM 697

C60017 697560 HEX SHEET METAL SCREWS ZINC #38 X 3/4 100 PM 697

C60018 697561 HEX SHEET METAL SCREWS ZINC #8 X 1 100 PM 697

C60019 697467 HEX SHEET METAL SCREWS ZINC #8 X1 1/4 100 PM 697

C60020 697468 HEX SHEET METAL SCREWS ZINC #8 X 11/2 100 PM 697

C60021 697470 HEX SHEET METAL SCREWS ZINC #8 X 2 50 PM 697

C60023 697474  HEX SHEET METAL SCREWS ZINC #10 X 1/2 100 PM 697 g
C60025 697566 HEX SHEET METAL SCREWS ZINC #10 X 3/4 100 PM 697 E
C60026 697478  HEX SHEET METAL SCREWS ZINC #10 X1 100 PM 697 H
C60027 697479  HEX SHEET METAL SCREWS ZINC #10 X1 1/4 50 PM 697 Q
C60028 697480 HEX SHEET METAL SCREWS ZINC #10 X1 1/2 50 PM 697 %
C60029 697482 HEX SHEET METAL SCREWS ZINC #10 X 2 50 PM 697 E
C60030 697485  HEX SHEET METAL SCREWS ZINC #12 X 1/2 100 PM 697 d
C60032 697487  HEX SHEET METAL SCREWS ZINC #12 X 3/4 100 PM 697 %
C60033 697488 HEX SHEET METAL SCREWS ZINC #12 X1 50 PM 697 0
C60034 697489  HEX SHEET METAL SCREWS ZINC #12 X 11/4 50 PM 697 E
C60035 697490 HEX SHEET METAL SCREWS ZINC #12 X 11/2 50 PM 697 E',I
C60036 697492  HEX SHEET METAL SCREWS ZINC #12 X2 50 PM 697

C60039 697497  HEX SHEET METAL SCREWS ZINC #14 X 3/4 50 PM 697

C60040 697498 HEX SHEET METAL SCREWS ZINC #14 X1 50 PM 697

C60041 697499  HEX SHEET METAL SCREWS ZINC #14 X 11/4 50 PM 697

C60042 697500 HEX SHEET METAL SCREWS ZINC #14 X 11/2 25 PM 697

C60043 697502 HEX SHEET METAL SCREWS ZINC #14 X 2 25 PM 697

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

al. 1



CLAM SHELL PACK (SEEPACK)

TP

PAN PHILLIPS SHEET METAL SCREWS ZINC

PART | paRT# DESCRIPTION siE QT GODE  GODE

C65001 697090  PAN PHIL SHEET METAL SCREWS ZINC #4 X 1/4 100 PM 697

C65002 697091 PAN PHIL SHEET METAL SCREWS ZINC #4 X 3/8 100 PM 697

C65003 697092  PAN PHIL SHEET METAL SCREWS ZINC #4 X 1/2 100 PM 697

C65004 697093  PAN PHIL SHEET METAL SCREWS ZINC #4 X 5/8 100 PM 697

C65005 697094  PAN PHIL SHEET METAL SCREWS ZINC #4 X 3/4 100 PM 697

C65006 697097  PAN PHIL SHEET METAL SCREWS ZINC #6 X 1/4 100 PM 697

C65007 697098  PAN PHIL SHEET METAL SCREWS ZINC #06 X 3/8 100 PM 697

C65008 697100  PAN PHIL SHEET METAL SCREWS ZINC #6 X 1/2 100 PM 697

C65009 697101 PAN PHIL SHEET METAL SCREWS ZINC #6 X 5/8 100 PM 697

C65010 697102  PAN PHIL SHEET METAL SCREWS ZINC #6 X 3/4 100 PM 697

C65012 697103  PAN PHIL SHEET METAL SCREWS ZINC #6 X 1 100 PM 697

C65013 697104  PAN PHIL SHEET METAL SCREWS ZINC #6X11/4 100 PM 697

C65014 697105  PAN PHIL SHEET METAL SCREWS ZINC #6 X 11/2 100 PM 697

C65023 697106  PAN PHIL SHEET METAL SCREWS ZINC #8 X 1/4 100 PM 697

C65024 697107  PAN PHIL SHEET METAL SCREWS ZINC #38 X 3/8 100 PM 697

C65025 697108  PAN PHIL SHEET METAL SCREWS ZINC #8 X 1/2 100 PM 697 g
C65026 697109  PAN PHIL SHEET METAL SCREWS ZINC #8 X 5/8 100 PM 697 E
C65027 697110  PAN PHIL SHEET METAL SCREWS ZINC #8 X 3/4 100 PM 697 H
C65029 697112  PAN PHIL SHEET METAL SCREWS ZINC #8 X 1 100 PM 697 Q
C65030 697113  PAN PHIL SHEET METAL SCREWS ZINC #8 X 11/4 100 PM 697 %
C65031 697114  PAN PHIL SHEET METAL SCREWS ZINC #8 X 11/2 100 PM 697 E
C65033 697116  PAN PHIL SHEET METAL SCREWS ZINC #8 X2 50 PM 697 d
C65034 697117  PAN PHIL SHEET METAL SCREWS ZINC #8X21/2 50 PM 697 %
C65035 697118  PAN PHIL SHEET METAL SCREWS ZINC #3 X3 50 PM 697 0
C65036 697120  PAN PHIL SHEET METAL SCREWS ZINC #10 X 3/8 100 PM 697 E
C65037 697121 PAN PHIL SHEET METAL SCREWS ZINC #10 X 1/2 100 PM 697 E',I
C65038 697122  PAN PHIL SHEET METAL SCREWS ZINC #10 X 5/8 100 PM 697

C65039 697123  PAN PHIL SHEET METAL SCREWS ZINC #10 X 3/4 100 PM 697

C65040 697124  PAN PHIL SHEET METAL SCREWS ZINC #10 X 7/8 100 PM 697

C65041 697125  PAN PHIL SHEET METAL SCREWS ZINC #10 X1 100 PM 697

C65042 697126  PAN PHIL SHEET METAL SCREWS ZINC #10X 1 1/4 100 PM 697

C65043 697127  PAN PHIL SHEET METAL SCREWS ZINC #10 X1 1/2 50 PM 697

C65045 697129  PAN PHIL SHEET METAL SCREWS ZINC #10 X 2 50 PM 697

C65046 697131 PAN PHIL SHEET METAL SCREWS ZINC #10X21/2 50 PM 697

C65047 697132  PAN PHIL SHEET METAL SCREWS ZINC #10 X 3 25 PM 697

C65048 697133  PAN PHIL SHEET METAL SCREWS ZINC #12 X 1/2 100 PM 697

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

TP

PAN PHILLIPS SHEET METAL SCREWS ZINC

PARTS | paRT4# DESCRPTION SeE QT GODE  GODE
C65049 697134  PAN PHIL SHEET METAL SCREWS ZINC #12 X 5/8 100 PM 697
C65050 697135  PAN PHIL SHEET METAL SCREWS ZINC #12 X 3/4 100 PM 697
C65052 697136  PAN PHIL SHEET METAL SCREWS ZINC #12 X1 100 PM 697
C65053 697137  PAN PHIL SHEET METAL SCREWS ZINC #12X11/4 50 PM 697
C65054 697138  PAN PHIL SHEET METAL SCREWS ZINC #12 X 11/2 50 PM 697
C65056 697140  PAN PHIL SHEET METAL SCREWS ZINC #12X2 25 PM 697
C65057 697141  PAN PHIL SHEET METAL SCREWS ZINC #12 X2 1/2 25 PM 697
C65058 697142  PAN PHIL SHEET METAL SCREWS ZINC #12X3 25 PM 697
C65061 696183  PAN PHIL SHEET METAL SCREWS ZINC #14 X 3/4 50 PM 696
C65063 697146  PAN PHIL SHEET METAL SCREWS ZINC #14 X1 50 PM 697
C65064 697147  PAN PHIL SHEET METAL SCREWS ZINC #14 X1 1/4 50 PM 697
C65065 696187  PAN PHIL SHEET METAL SCREWS ZINC #14 X 11/2 50 PM 696
C65067 696189  PAN PHIL SHEET METAL SCREWS ZINC #14 X 2 25 PM 696
C65068 696190  PAN PHIL SHEET METAL SCREWS ZINC #14 X 21/2 25 PM 696
C65069 696191  PAN PHIL SHEET METAL SCREWS ZINC #14 X 3 25 PM 696

4
S
[a
w
w
(7))
XY
=
(a
4
|
m
I
0
=
<<
I
o

) “Your Complete Fastener Source”
am. grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

TP

FLAT PHILLIPS SHEET METAL SCREWS ZINC

PART | paRT# DESCRIPTION siE QT GODE  GODE

C66001 697578  FLAT PHIL SHEET METAL SCREWS ZINC #4 X 1/4 100 PM 696

C66002 697011 FLAT PHIL SHEET METAL SCREWS ZINC #4 X 3/8 100 PM 697

C66003 697012  FLAT PHIL SHEET METAL SCREWS ZINC #4 X 1/2 100 PM 697

C66005 697014  FLAT PHIL SHEET METAL SCREWS ZINC #4 X 3/4 100 PM 697

C66006 696973  FLAT PHIL SHEET METAL SCREWS ZINC #6 X 1/4 100 PM 696

C66007 697020  FLAT PHIL SHEET METAL SCREWS ZINC #6 X 3/8 100 PM 697

C66008 697021 FLAT PHIL SHEET METAL SCREWS ZINC #6 X 1/2 100 PM 697

C66009 697022  FLAT PHIL SHEET METAL SCREWS ZINC #6 X 5/8 100 PM 697

C66010 697023  FLAT PHIL SHEET METAL SCREWS ZINC #6 X 3/4 100 PM 697

C66012 697024  FLAT PHIL SHEET METAL SCREWS ZINC #6 X 1 100 PM 697

C66013 697025  FLAT PHIL SHEET METAL SCREWS ZINC #6 X 11/4 100 PM 697

C66014 697026  FLAT PHIL SHEET METAL SCREWS ZINC #6 X 11/2 100 PM 697

C66018 696045  FLAT PHIL SHEET METAL SCREWS ZINC #7 X 3/4 100 PM 696

C66024 697029  FLAT PHIL SHEET METAL SCREWS ZINC #8 X 3/8 100 PM 697

C66025 697030  FLAT PHIL SHEET METAL SCREWS ZINC #8 X 1/2 100 PM 697

C66026 697031 FLAT PHIL SHEET METAL SCREWS ZINC #8 X 5/8 100 PM 697 g
C66027 697032  FLAT PHIL SHEET METAL SCREWS ZINC #8 X 3/4 100 PM 697 E
C66029 697034  FLAT PHIL SHEET METAL SCREWS ZINC #8 X 1 100 PM 697 H
C66030 697035  FLAT PHIL SHEET METAL SCREWS ZINC #8 X 1 1/4 100 PM 697 Q
C66031 697036  FLAT PHIL SHEET METAL SCREWS ZINC #3 X 11/2 100 PM 697 %
C66033 697038  FLAT PHIL SHEET METAL SCREWS ZINC #8 X 2 50 PM 697 E
C66034 697039  FLAT PHIL SHEET METAL SCREWS ZINC #8X21/2 50 PM 697 d
C66035 697040  FLAT PHIL SHEET METAL SCREWS ZINC #3 X3 50 PM 697 %
C66037 697509  FLAT PHIL SHEET METAL SCREWS ZINC #10 X 1/2 100 PM 697 0
C66039 697044  FLAT PHIL SHEET METAL SCREWS ZINC #10 X 3/4 100 PM 697 E
C66041 697045  FLAT PHIL SHEET METAL SCREWS ZINC #10 X1 100 PM 697 E',I
C66042 697046  FLAT PHIL SHEET METAL SCREWS ZINC #10X 1 1/4 100 PM 697

C66043 697047  FLAT PHIL SHEET METAL SCREWS ZINC #10 X1 1/2 50 PM 697

C66045 697049  FLAT PHIL SHEET METAL SCREWS ZINC #10 X 2 50 PM 697

C66046 697050  FLAT PHIL SHEET METAL SCREWS ZINC #10X21/2 50 PM 697

C66047 697051 FLAT PHIL SHEET METAL SCREWS ZINC #10 X 3 25 PM 697

C66050 697053  FLAT PHIL SHEET METAL SCREWS ZINC #12 X 3/4 100 PM 697

C66052 697054  FLAT PHIL SHEET METAL SCREWS ZINC #12 X1 100 PM 697

C66053 697055  FLAT PHIL SHEET METAL SCREWS ZINC #12X11/4 50 PM 697

C66054 696083  FLAT PHIL SHEET METAL SCREWS ZINC #12 X 11/2 50 PM 696

C66056 697056  FLAT PHIL SHEET METAL SCREWS ZINC #12X2 25 PM 697

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com an. 1



CLAM SHELL PACK (SEEPACK)

FLAT PHILLIPS SHEET METAL SCREWS ZINC

SRATIN 881 pescrupron o ¥ty
C66057 697057 FLAT PHIL SHEET METAL SCREWS ZINC #12 X 21/2 25 PM 697
C66058 697058 FLAT PHIL SHEET METAL SCREWS ZINC #12X3 25 PM 697
C66061 696090 FLAT PHIL SHEET METAL SCREWS ZINC #14 X 3/4 50 PM 696
C66063 697061 FLAT PHIL SHEET METAL SCREWS ZINC #14 X 1 50 PM 697
C66064 696092 FLAT PHIL SHEET METAL SCREWS ZINC #14 X1 1/4 50 PM 696
C66065 696093 FLAT PHIL SHEET METAL SCREWS ZINC #14 X 11/2 50 PM 696
C66067 696095 FLAT PHIL SHEET METAL SCREWS ZINC #14 X 2 25 PM 696
C66068 696096 FLAT PHIL SHEET METAL SCREWS ZINC #14 X2 1/2 25 PM 696
C66069 696097 FLAT PHIL SHEET METAL SCREWS ZINC #14 X 3 25 PM 696

4
S
[a
w
w
(7))
XY
53
(a
4
|
m
I
0
=
<<
I
o

“Your Complete Fastener Source”

an. 2 grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

FLAT PHILLIPS WOOD SCREWS ZINC

PART | paRT# DESCRIPTION siE QT GODE  GODE

C76011 898278  FLAT PHIL WOOD SCREWS ZINC #4 X 1/2 100 PM 898

C76012 898280  FLAT PHIL WOOD SCREWS ZINC #4 X 5/8 100 PM 898

C76013 898282  FLAT PHIL WOOD SCREWS ZINC #4 X 3/4 100 PM 898

C76025 898310  FLAT PHIL WOOD SCREWS ZINC #6 X 1/2 100 PM 898

C76026 898312  FLAT PHIL WOOD SCREWS ZINC #6 X 5/8 100 PM 898

C76027 898314  FLAT PHIL WOOD SCREWS ZINC #6 X 3/4 100 PM 898

C76029 898318  FLAT PHIL WOOD SCREWS ZINC #6 X 1 100 PM 898

C76030 898320  FLAT PHIL WOOD SCREWS ZINC #6 X 11/4 100 PM 898

C76031 898322  FLAT PHIL WOOD SCREWS ZINC #6 X 11/2 100 PM 898

C76046 898352  FLAT PHIL WOOD SCREWS ZINC #8 X 1/2 100 PM 898

C76047 898354  FLAT PHIL WOOD SCREWS ZINC #8 X 5/8 100 PM 898

C76048 898356  FLAT PHIL WOOD SCREWS ZINC #8 X 3/4 100 PM 898

C76050 898360  FLAT PHIL WOOD SCREWS ZINC #8 X 1 100 PM 898

C76051 898362  FLAT PHIL WOOD SCREWS ZINC #8 X 11/4 100 PM 898

C76052 898364  FLAT PHIL WOOD SCREWS ZINC #8 X 11/2 100 PM 898

C76053 898366  FLAT PHIL WOOD SCREWS ZINC #8 X 13/4 100 PM 898 g
C76054 898368  FLAT PHIL WOOD SCREWS ZINC #8 X 2 50 PM 898 E
C76055 898372  FLAT PHIL WOOD SCREWS ZINC #8X21/2 50 PM 898 H
C76056 898374  FLAT PHIL WOOD SCREWS ZINC #3 X3 50 PM 898 25
C76059 898384  FLAT PHIL WOOD SCREWS ZINC #9 X 3/4 100 PM 898 %
C76061 898386  FLAT PHIL WOOD SCREWS ZINC #9 X 1 100 PM 898 E
C76063 898390  FLAT PHIL WOOD SCREWS ZINC #9 X 11/2 100 PM 898 d
C76065 898394  FLAT PHIL WOOD SCREWS ZINC #9 X 2 50 PM 898 %
C76070 898408  FLAT PHIL WOOD SCREWS ZINC #10 X 3/4 100 PM 898 0
C76072 898412  FLAT PHIL WOOD SCREWS ZINC #10 X 1 100 PM 898 E
C76073 898414  FLAT PHIL WOOD SCREWS ZINC #10X 11/4 100 PM 898 E)I
C76074 898416  FLAT PHIL WOOD SCREWS ZINC #10 X 1 1/2 50 PM 898

C76075 898418  FLAT PHIL WOOD SCREWS ZINC #10 X 1 3/4 50 PM 898

C76076 898420  FLAT PHIL WOOD SCREWS ZINC #10 X 2 50 PM 898

C76078 898424  FLAT PHIL WOOD SCREWS ZINC #10X21/2 50 PM 898

C76079 898426  FLAT PHIL WOOD SCREWS ZINC #10 X 3 25 PM 898

C76083 898434  FLAT PHIL WOOD SCREWS ZINC #12 X 3/4 100 PM 898

C76085 898436  FLAT PHIL WOOD SCREWS ZINC #12 X1 100 PM 898

C76086 898438  FLAT PHIL WOOD SCREWS ZINC #12X11/4 50 PM 898

C76087 898440  FLAT PHIL WOOD SCREWS ZINC #12 X 11/2 50 PM 898

C76088 898442  FLAT PHIL WOOD SCREWS ZINC #12 X 1 3/4 50 PM 898

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com ao. 1



4
S
[a
w
w
(7))
XY
53
(a
4
|
m
I
0
=
<<
I
o

ao. 2

CLAM SHELL PACK (SEEPACK)

FLAT PHILLIPS WOOD SCREWS ZINC

SRATIN 881 pescrupron o ¥ty
C76089 898444 FLAT PHIL WOOD SCREWS ZINC #12 X 2 50 PM 898
C76091 898448 FLAT PHIL WOOD SCREWS ZINC #12X21/2 50 PM 898
C76092 898450 FLAT PHIL WOOD SCREWS ZINC #12X 3 25 PM 898
C76097 898458 FLAT PHIL WOOD SCREWS ZINC #14 X1 1/4 50 PM 898
C76098 898460 FLAT PHIL WOOD SCREWS ZINC #14 X1 1/2 50 PM 898
C76100 898464 FLAT PHIL WOOD SCREWS ZINC #14 X 2 25 PM 898
C76102 898468 FLAT PHIL WOOD SCREWS ZINC #14 X2 1/2 25 PM 898
C76103 898470 FLAT PHIL WOOD SCREWS ZINC #14 X 3 25 PM 898

“Your Complete Fastener Source”
grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

BRASS FLAT PHILLIPS WOOD SCREWS

PART | paRT# DESCRIPTION siE QT GODE  GODE
C155053 114099  FLAT PHIL WOOD SCREWS BRASS #3 X 3/8 100 PM 114
C155054 114100  FLAT PHIL WOOD SCREWS BRASS #3 X 1/2 100 PM 114
C155011 114115 FLAT PHIL WOOD SCREWS BRASS #6 X 1/2 100 PM 114
C155013 114117 FLAT PHIL WOOD SCREWS BRASS #6 X 3/4 100 PM 114
C155014 114119 FLAT PHIL WOOD SCREWS BRASS #6 X 1 100 PM 114
C155015 114120  FLAT PHIL WOOD SCREWS BRASS #6 X 11/4 100 PM 114
C155016 114121 FLAT PHIL WOOD SCREWS BRASS #6 X 11/2 100 PM 114
C155021 114129  FLAT PHIL WOOD SCREWS BRASS #8 X 1/2 100 PM 114
C155023 114131 FLAT PHIL WOOD SCREWS BRASS #8 X 3/4 100 PM 114
C155024 114133  FLAT PHIL WOOD SCREWS BRASS #8 X 1 100 PM 114
C155025 114134  FLAT PHIL WOOD SCREWS BRASS #3 X 1 1/4 100 PM 114
C155026 114135  FLAT PHIL WOOD SCREWS BRASS #8 X 11/2 100 PM 114
C155050 114137  FLAT PHIL WOOD SCREWS BRASS #8 X 2 50 PM 114
C155031 114148  FLAT PHIL WOOD SCREWS BRASS #10 X1 100 PM 114
C155032 114149  FLAT PHIL WOOD SCREWS BRASS #10 X 1 1/4 100 PM 114
C155033 114150  FLAT PHIL WOOD SCREWS BRASS #10 X 11/2 50 PM 114
C155035 114152  FLAT PHIL WOOD SCREWS BRASS #10 X 2 50 PM 114
C155039 114156  FLAT PHIL WOOD SCREWS BRASS #12 X1 100 PM 114
C155040 114157  FLAT PHIL WOOD SCREWS BRASS #12 X1 1/4 50 PM 114
C155041 114158  FLAT PHIL WOOD SCREWS BRASS #12 X1 1/2 50 PM 114
C155043 114160  FLAT PHIL WOOD SCREWS BRASS #12 X 2 50 PM 114
C155044 114161 FLAT PHIL WOOD SCREWS BRASS #12X21/2 25 PM 114
C155045 114162  FLAT PHIL WOOD SCREWS BRASS #12X3 25 PM 114

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

<
S
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)




CLAM SHELL PACK (SEEPACK)

ROUND SLOTTED MACHINE SCREWS ZINC

PART | paRT# DESCRIPTION siE Q™ GODE GODE

C77041 583211 ROUND SLOTTED MACHINE SCREWS ZINC 6-32 X 3/8 100 PM 583

C77042 583215 ROUND SLOTTED MACHINE SCREWS ZINC 6-32 X 1/2 100 PM 583

C77043 583219 ROUND SLOTTED MACHINE SCREWS ZINC 6-32 X 5/8 100 PM 583

C77044 583223 ROUND SLOTTED MACHINE SCREWS ZINC 6-32 X 3/4 100 PM 583

C77046 583231 ROUND SLOTTED MACHINE SCREWS ZINC 6-32 X1 100 PM 583

C77047 583237 ROUND SLOTTED MACHINE SCREWS ZINC 6-32X11/4 100 PM 583

C77048 583247 ROUND SLOTTED MACHINE SCREWS ZINC 6-32 X1 1/2 100 PM 583

C77050 583263 ROUND SLOTTED MACHINE SCREWS ZINC 6-32 X 2 100 PM 583

C77056 583311 ROUND SLOTTED MACHINE SCREWS ZINC 8-32 X 3/8 100 PM 583

C77057 583315 ROUND SLOTTED MACHINE SCREWS ZINC 8-32 X 1/2 100 PM 583

C77058 583319 ROUND SLOTTED MACHINE SCREWS ZINC 8-32 X 5/8 100 PM 583

C77059 583323 ROUND SLOTTED MACHINE SCREWS ZINC 8-32 X 3/4 100 PM 583

C77061 583331 ROUND SLOTTED MACHINE SCREWS ZINC 8-32 X1 100 PM 583

C77062 583337 ROUND SLOTTED MACHINE SCREWS ZINC 8-32X11/4 100 PM 583

C77063 583347 ROUND SLOTTED MACHINE SCREWS ZINC 8-32X11/2 100 PM 583

C77065 583363 ROUND SLOTTED MACHINE SCREWS ZINC 8-32X2 50 PM 583 g
C77068 583379 ROUND SLOTTED MACHINE SCREWS ZINC 8-32 X3 50 PM 583 E
C77073 583415 ROUND SLOTTED MACHINE SCREWS ZINC 10-24 X 1/2 100 PM 583 H
C77074 583419 ROUND SLOTTED MACHINE SCREWS ZINC 10-24 X 5/8 100 PM 583 Q
C77075 583423 ROUND SLOTTED MACHINE SCREWS ZINC 10-24 X 3/4 100 PM 583 %
C77077 583431 ROUND SLOTTED MACHINE SCREWS ZINC 10-24 X 1 100 PM 583 E
C77078 583437 ROUND SLOTTED MACHINE SCREWS ZINC 10-24 X1 1/4 100 PM 583 d
C77079 583447 ROUND SLOTTED MACHINE SCREWS ZINC 10-24 X1 1/2 50 PM 583 %
C77081 583463 ROUND SLOTTED MACHINE SCREWS ZINC 10-24 X 2 50 PM 583 0
C77085 583479 ROUND SLOTTED MACHINE SCREWS ZINC 10-24 X 3 25 PM 583 E
C77095 583416  ROUND SLOTTED MACHINE SCREWS ZINC 10-32 X 1/2 100 PM 583 E)I
C77096 583420 ROUND SLOTTED MACHINE SCREWS ZINC 10-32 X 5/8 100 PM 583

C77097 583424  ROUND SLOTTED MACHINE SCREWS ZINC 10-32 X 3/4 100 PM 583

C77099 583432 ROUND SLOTTED MACHINE SCREWS ZINC 10-32 X 1 100 PM 583

C77100 583438 ROUND SLOTTED MACHINE SCREWS ZINC 10-32 X1 1/4 50 PM 583

C77101 583448 ROUND SLOTTED MACHINE SCREWS ZINC 10-32 X1 1/2 50 PM 583

C77103 583464 ROUND SLOTTED MACHINE SCREWS ZINC 10-32 X2 50 PM 583

C77128 583615 ROUND SLOTTED MACHINE SCREWS ZINC 1/4-20 X 1/2 100 PM 583

C77130 583623 ROUND SLOTTED MACHINE SCREWS ZINC 1/4-20 X 3/4 50 PM 583

C77132 583631 ROUND SLOTTED MACHINE SCREWS ZINC 1/4-20 X 1 50 PM 583

C77133 583637 ROUND SLOTTED MACHINE SCREWS ZINC 1/4-20 X 1 1/4 50 PM 583

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com ag. 1



CLAM SHELL PACK (SEEPACK)

% ROUND SLOTTED MACHINE SCREWS ZINC
GRATTAN BBI BOX VD FAMILY
PART#  PART# DESCRIPTION SIZE QTY CODE CODE
C77134 583647 ROUND SLOTTED MACHINE SCREWS ZINC 1/4-20 X 1 1/2 50 PM 583
C77136 583663 ROUND SLOTTED MACHINE SCREWS ZINC 1/4-20 X 2 25 PM 583
C77140 583679 ROUND SLOTTED MACHINE SCREWS ZINC 1/4-20 X 3 25 PM 583

4
S
[a
w
w
(7))
XY
53
(a
4
|
m
I
0
=
<<
I
o

o “Your Complete Fastener Source”
aq. grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

FLAT SLOTTED MACHINE SCREWS ZINC

PART | paRT# DESCRIPTION siE QT GODE  GODE
C78037 580211 FLAT SLOTTED MACHINE SCREWS ZINC 6-32 X 3/8 100 PM 580
C78038 580215  FLAT SLOTTED MACHINE SCREWS ZINC 6-32 X 1/2 100 PM 580
C78039 580219  FLAT SLOTTED MACHINE SCREWS ZINC 6-32 X 5/8 100 PM 580
C78040 580223  FLAT SLOTTED MACHINE SCREWS ZINC 6-32 X 3/4 100 PM 580
C78042 580231 FLAT SLOTTED MACHINE SCREWS ZINC 6-32 X1 100 PM 580
C78043 580237  FLAT SLOTTED MACHINE SCREWS ZINC 6-32X11/4 100 PM 580
C78044 580247  FLAT SLOTTED MACHINE SCREWS ZINC 6-32 X1 1/2 100 PM 580
C78046 580263  FLAT SLOTTED MACHINE SCREWS ZINC 6-32 X 2 100 PM 580
C78053 580315  FLAT SLOTTED MACHINE SCREWS ZINC 8-32 X 1/2 100 PM 580
C78054 580319  FLAT SLOTTED MACHINE SCREWS ZINC 8-32 X 5/8 100 PM 580
C78055 580323  FLAT SLOTTED MACHINE SCREWS ZINC 8-32 X 3/4 100 PM 580
C78057 580331 FLAT SLOTTED MACHINE SCREWS ZINC 8-32 X1 100 PM 580
C78058 580337  FLAT SLOTTED MACHINE SCREWS ZINC 8-32X11/4 100 PM 580
C78059 580347  FLAT SLOTTED MACHINE SCREWS ZINC 8-32 X 11/2 100 PM 580
C78061 580363  FLAT SLOTTED MACHINE SCREWS ZINC 8-32 X2 50 PM 580
C78063 580379  FLAT SLOTTED MACHINE SCREWS ZINC 8-32X3 25 PM 580
C78067 580415  FLAT SLOTTED MACHINE SCREWS ZINC 10-24 X 1/2 100 PM 580
C78069 580423  FLAT SLOTTED MACHINE SCREWS ZINC 10-24 X 3/4 100 PM 580
C78071 580431 FLAT SLOTTED MACHINE SCREWS ZINC 10-24 X 1 100 PM 580
C78072 580437  FLAT SLOTTED MACHINE SCREWS ZINC 10-24 X 1 1/4 100 PM 580
C78073 580447  FLAT SLOTTED MACHINE SCREWS ZINC 10-24 X1 1/2 50 PM 580
C78075 580463  FLAT SLOTTED MACHINE SCREWS ZINC 10-24 X 2 50 PM 580
C78079 580479  FLAT SLOTTED MACHINE SCREWS ZINC 10-24 X 3 25 PM 580
C78089 580416  FLAT SLOTTED MACHINE SCREWS ZINC 10-32 X 1/2 100 PM 580
C78090 580420 FLAT SLOTTED MACHINE SCREWS ZINC 10-32 X 5/8 100 PM 580
C78091 580424  FLAT SLOTTED MACHINE SCREWS ZINC 10-32 X 3/4 100 PM 580
C78093 580432  FLAT SLOTTED MACHINE SCREWS ZINC 10-32 X 1 100 PM 580
C78094 580438  FLAT SLOTTED MACHINE SCREWS ZINC 10-32 X 1 1/4 100 PM 580
C78095 580448  FLAT SLOTTED MACHINE SCREWS ZINC 10-32 X1 1/2 50 PM 580
C78097 580464  FLAT SLOTTED MACHINE SCREWS ZINC 10-32 X 2 50 PM 580
C78101 580480 FLAT SLOTTED MACHINE SCREWS ZINC 10-32 X 3 25 PM 580
C78121 580615  FLAT SLOTTED MACHINE SCREWS ZINC 1/4-20 X 1/2 100 PM 580
C78122 580619  FLAT SLOTTED MACHINE SCREWS ZINC 1/4-20 X 5/8 100 PM 580
C78123 580623  FLAT SLOTTED MACHINE SCREWS ZINC 1/4-20 X 3/4 100 PM 580
C78125 580631 FLAT SLOTTED MACHINE SCREWS ZINC 1/4-20 X 1 50 PM 580
C78126 580637  FLAT SLOTTED MACHINE SCREWS ZINC 1/4-20 X 1 1/4 50 PM 580

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

<
S
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

ar. 1



4
S
[a
w
w
(7))
XY
53
(a
4
|
m
I
0
=
<<
I
o

ar. 2

CLAM SHELL PACK (SEEPACK)

FLAT SLOTTED MACHINE SCREWS ZINC

SRATIN 881 pescrupron o ¥ty
C78127 580647 FLAT SLOTTED MACHINE SCREWS ZINC 1/4-20 X 1 1/2 50 PM 580
C78129 580663 FLAT SLOTTED MACHINE SCREWS ZINC 1/4-20 X 2 25 PM 580
C78131 580671 FLAT SLOTTED MACHINE SCREWS ZINC 1/4-20 X 2 1/2 25 PM 580
C78133 580679 FLAT SLOTTED MACHINE SCREWS ZINC 1/4-20 X 3 25 PM 580

“Your Complete Fastener Source”
grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

TRUSS HEAD MACHINE SCREWS ZINC

PART | paRT# DESCRIPTION siE QT GODE  GODE
C79015 584315  TRUSS HEAD MACHINE SCREWS ZINC 8-32 X 1/2 100 PM 584
C79016 578350 TRUSS HEAD MACHINE SCREWS ZINC 8-32 X 5/8 100 PM 578
C79017 578351 TRUSS HEAD MACHINE SCREWS ZINC 8-32 X 3/4 100 PM 578
C79018 578353  TRUSS HEAD MACHINE SCREWS ZINC 8-32 X 7/8 100 PM 578
C79019 578355  TRUSS HEAD MACHINE SCREWS ZINC 8-32 X1 100 PM 578
C79020 584333 TRUSS HEAD MACHINE SCREWS ZINC 8-32X11/8 100 PM 584
C79021 578357 TRUSS HEAD MACHINE SCREWS ZINC 8-32X11/4 100 PM 578
C79022 584339  TRUSS HEAD MACHINE SCREWS ZINC 8-32 X 13/8 100 PM 584
C79023 578359  TRUSS HEAD MACHINE SCREWS ZINC 8-32 X 11/2 50 PM 578
C79024 584351  TRUSS HEAD MACHINE SCREWS ZINC 8-32 X 15/8 50 PM 584
C79025 578361 TRUSS HEAD MACHINE SCREWS ZINC 8-32 X1 3/4 50 PM 578
C79026 584363 TRUSS HEAD MACHINE SCREWS ZINC 8-32 X2 50 PM 584

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

as. 1



CLAM SHELL PACK (SEEPACK)

FLAT PHILLIPS MACHINE SCREWS ZINC

PART | paRT# DESCRIPTION siE QT GODE  GODE
C80001 586205  FLAT PHIL MACHINE SCREWS ZINC 6-32 X 1/4 100 PM 586
C80002 586209  FLAT PHIL MACHINE SCREWS ZINC 6-32 X 5/16 100 PM 586
C80003 586211 FLAT PHIL MACHINE SCREWS ZINC 6-32 X 3/8 100 PM 586
C80004 586215  FLAT PHIL MACHINE SCREWS ZINC 6-32 X 1/2 100 PM 586
C80005 586219  FLAT PHIL MACHINE SCREWS ZINC 6-32 X 5/8 100 PM 586
C80006 586223  FLAT PHIL MACHINE SCREWS ZINC 6-32 X 3/4 100 PM 586
C80008 586231 FLAT PHIL MACHINE SCREWS ZINC 6-32 X 1 100 PM 586
C80009 586237  FLAT PHIL MACHINE SCREWS ZINC 6-32X11/4 100 PM 586
C80010 586247  FLAT PHIL MACHINE SCREWS ZINC 6-32 X 11/2 100 PM 586
C80011 586263  FLAT PHIL MACHINE SCREWS ZINC 6-32 X2 50 PM 586
C80012 586271 FLAT PHIL MACHINE SCREWS ZINC 6-32X21/2 50 PM 586
C80013 586308  FLAT PHIL MACHINE SCREWS ZINC 8-32 X 1/4 100 PM 586
C80014 586309  FLAT PHIL MACHINE SCREWS ZINC 8-32 X 5/16 100 PM 586
C80015 586311 FLAT PHIL MACHINE SCREWS ZINC 8-32 X 3/8 100 PM 586
C80016 586315  FLAT PHIL MACHINE SCREWS ZINC 8-32 X 1/2 100 PM 586
C80017 586319  FLAT PHIL MACHINE SCREWS ZINC 8-32 X 5/8 100 PM 586
C80018 586323  FLAT PHIL MACHINE SCREWS ZINC 8-32 X 3/4 100 PM 586
C80020 586331 FLAT PHIL MACHINE SCREWS ZINC 8-32 X1 100 PM 586
C80021 586337  FLAT PHIL MACHINE SCREWS ZINC 8-32X11/4 100 PM 586
C80022 586347  FLAT PHIL MACHINE SCREWS ZINC 8-32X11/2 100 PM 586
C80024 586363  FLAT PHIL MACHINE SCREWS ZINC 8-32 X2 50 PM 586
C80025 586365  FLAT PHIL MACHINE SCREWS ZINC 8-32X21/2 50 PM 586
C80028 586415  FLAT PHIL MACHINE SCREWS ZINC 10-24 X 1/2 100 PM 586
C80029 586419  FLAT PHIL MACHINE SCREWS ZINC 10-24 X 5/8 100 PM 586
C80030 586423  FLAT PHIL MACHINE SCREWS ZINC 10-24 X 3/4 100 PM 586
C80032 586431 FLAT PHIL MACHINE SCREWS ZINC 10-24 X 1 100 PM 586
C80033 586437  FLAT PHIL MACHINE SCREWS ZINC 10-24 X 1 1/4 100 PM 586
C80034 586447  FLAT PHIL MACHINE SCREWS ZINC 10-24 X 1 1/2 50 PM 586
C80036 586463  FLAT PHIL MACHINE SCREWS ZINC 10-24 X 2 50 PM 586
C80037 586471 FLAT PHIL MACHINE SCREWS ZINC 10-24 X2 1/2 50 PM 586
C80038 586479  FLAT PHIL MACHINE SCREWS ZINC 10-24 X 3 25 PM 586
C80040 586416  FLAT PHIL MACHINE SCREWS ZINC 10-32 X 1/2 100 PM 586
C80041 586420  FLAT PHIL MACHINE SCREWS ZINC 10-32 X 5/8 100 PM 586
C80042 586424  FLAT PHIL MACHINE SCREWS ZINC 10-32 X 3/4 100 PM 586
C80044 586432  FLAT PHIL MACHINE SCREWS ZINC 10-32 X 1 100 PM 586
C80045 586438  FLAT PHIL MACHINE SCREWS ZINC 10-32 X 1 1/4 100 PM 586

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

<
S
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

at. 1



CLAM SHELL PACK (SEEPACK)

FLAT PHILLIPS MACHINE SCREWS ZINC

PARTS | paRT4# DESCRPTION SeE QT GODE  GODE
C80046 586448  FLAT PHIL MACHINE SCREWS ZINC 10-32 X1 1/2 50 PM 586
C80048 586464  FLAT PHIL MACHINE SCREWS ZINC 10-32 X 2 50 PM 586
C80049 586472  FLAT PHIL MACHINE SCREWS ZINC 10-32X21/2 50 PM 586
C80050 586480  FLAT PHIL MACHINE SCREWS ZINC 10-32 X3 25 PM 586
C80051 586615  FLAT PHIL MACHINE SCREWS ZINC 1/4-20 X 1/2 100 PM 586
C80052 586619  FLAT PHIL MACHINE SCREWS ZINC 1/4-20 X 5/8 100 PM 586
C80053 586623  FLAT PHIL MACHINE SCREWS ZINC 1/4-20 X 3/4 50 PM 586
C80055 586631  FLAT PHIL MACHINE SCREWS ZINC 1/4-20 X 1 50 PM 586
C80056 586637  FLAT PHIL MACHINE SCREWS ZINC 1/4-20 X 1 1/4 50 PM 586
C80057 586647  FLAT PHIL MACHINE SCREWS ZINC 1/4-20 X 1 1/2 50 PM 586
C80059 586663  FLAT PHIL MACHINE SCREWS ZINC 1/4-20 X 2 25 PM 586
C80060 586273  FLAT PHIL MACHINE SCREWS ZINC 6-32 X3 25 PM 586
C80087 586671  FLAT PHIL MACHINE SCREWS ZINC 1/4-20 X2 1/2 25 PM 586
C80088 586679  FLAT PHIL MACHINE SCREWS ZINC 1/4-20 X 3 25 PM 586

4
S
[a
w
w
(7))
XY
53
(a
4
|
m
I
0
=
<<
I
o

“Your Complete Fastener Source”
grattanfasteners.com

at. 2



CLAM SHELL PACK (SEEPACK)

PAN PHILLIPS MACHINE SCREWS ZINC

PART | paRT# DESCRIPTION siE QT GODE  GODE
C81004 587215  PAN PHIL MACHINE SCREWS ZINC 6-32 X 1/2 100 PM 587
C81005 587219  PAN PHIL MACHINE SCREWS ZINC 6-32 X 5/8 100 PM 587
C81006 587223  PAN PHIL MACHINE SCREWS ZINC 6-32 X 3/4 100 PM 587
C81008 587231 PAN PHIL MACHINE SCREWS ZINC 6-32 X1 100 PM 587
C81009 587237  PAN PHIL MACHINE SCREWS ZINC 6-32X11/4 100 PM 587
C81010 587247  PAN PHIL MACHINE SCREWS ZINC 6-32X11/2 100 PM 587
C81012 587263  PAN PHIL MACHINE SCREWS ZINC 6-32 X 2 100 PM 587
C81016 587315  PAN PHIL MACHINE SCREWS ZINC 8-32 X 1/2 100 PM 587
C81017 587319  PAN PHIL MACHINE SCREWS ZINC 8-32 X 5/8 100 PM 587
C81018 587323  PAN PHIL MACHINE SCREWS ZINC 8-32 X 3/4 100 PM 587
C81020 587331 PAN PHIL MACHINE SCREWS ZINC 8-32 X1 100 PM 587
C81021 587337  PAN PHIL MACHINE SCREWS ZINC 8-32X11/4 100 PM 587
C81022 587347  PAN PHIL MACHINE SCREWS ZINC 8-32 X 11/2 100 PM 587
C81024 587363  PAN PHIL MACHINE SCREWS ZINC 8-32 X2 50 PM 587
C81028 587415  PAN PHIL MACHINE SCREWS ZINC 10-24 X 1/2 100 PM 587
C81029 587419  PAN PHIL MACHINE SCREWS ZINC 10-24 X 5/8 100 PM 587
C81030 587423  PAN PHIL MACHINE SCREWS ZINC 10-24 X 3/4 100 PM 587
C81032 587431 PAN PHIL MACHINE SCREWS ZINC 10-24 X 1 100 PM 587
C81033 587437  PAN PHIL MACHINE SCREWS ZINC 10-24 X 1 1/4 100 PM 587
C81034 587447  PAN PHIL MACHINE SCREWS ZINC 10-24 X 1 1/2 50 PM 587
C81036 587463  PAN PHIL MACHINE SCREWS ZINC 10-24 X 2 50 PM 587
C81040 587416  PAN PHIL MACHINE SCREWS ZINC 10-32 X 1/2 100 PM 587
C81042 587424  PAN PHIL MACHINE SCREWS ZINC 10-32 X 3/4 100 PM 587
C81044 587432  PAN PHIL MACHINE SCREWS ZINC 10-32 X 1 100 PM 587
C81045 587438  PAN PHIL MACHINE SCREWS ZINC 10-32 X1 1/4 100 PM 587
C81046 587448  PAN PHIL MACHINE SCREWS ZINC 10-32 X1 1/2 50 PM 587
C81048 587464  PAN PHIL MACHINE SCREWS ZINC 10-32 X 2 50 PM 587
C81051 587615  PAN PHIL MACHINE SCREWS ZINC 1/4-20 X 1/2 100 PM 587
C81053 587623  PAN PHIL MACHINE SCREWS ZINC 1/4-20 X 3/4 50 PM 587
C81055 587631 PAN PHIL MACHINE SCREWS ZINC 1/4-20 X 1 50 PM 587
C81056 587637  PAN PHIL MACHINE SCREWS ZINC 1/4-20 X 1 1/4 50 PM 587
C81057 587647  PAN PHIL MACHINE SCREWS ZINC 1/4-20 X 1 1/2 50 PM 587
C81058 587655  PAN PHIL MACHINE SCREWS ZINC 1/4-20 X 1 3/4 50 PM 587
C81059 587663  PAN PHIL MACHINE SCREWS ZINC 1/4-20 X 2 25 PM 587
C81060 587271 PAN PHIL MACHINE SCREWS ZINC 6-32X21/2 50 PM 587
C81061 587279  PAN PHIL MACHINE SCREWS ZINC 6-32 X3 25 PM 587

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com

<
S
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

au. 1



CLAM SHELL PACK (SEEPACK)

4
S
[a
w
w
(7))
XY
53
(a
4
|
m
I
0
=
<<
I
o

au. 2

PAN PHILLIPS MACHINE SCREWS ZINC

SRATIN 881 pescrupron o ¥ty
C81062 587371 PAN PHIL MACHINE SCREWS ZINC 8-32X21/2 50 PM 587
C81063 587379 PAN PHIL MACHINE SCREWS ZINC 8-32 X3 25 PM 587
C81064 587471 PAN PHIL MACHINE SCREWS ZINC 10-24 X2 1/2 50 PM 587
C81065 587479 PAN PHIL MACHINE SCREWS ZINC 10-24 X 3 25 PM 587
C81066 587472 PAN PHIL MACHINE SCREWS ZINC 10-32 X2 1/2 50 PM 587
C81067 587480 PAN PHIL MACHINE SCREWS ZINC 10-32 X 3 25 PM 587
C81068 587671 PAN PHIL MACHINE SCREWS ZINC 1/4-20 X 2 1/2 25 PM 587
C81069 587679 PAN PHIL MACHINE SCREWS ZINC 1/4-20 X 3 25 PM 587

“Your Complete Fastener Source”
grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

P

PAN PHILLIPS SHEET METAL SCREW 18-85S

PART | paRT# DESCRIPTION siE QT GODE  GODE
C204015 792060  PAN PHIL SHEET METAL SCREWS 18-8-SS #8 X 1/2 50 PM 792
C204017 792072  PAN PHIL SHEET METAL SCREWS 18-8-SS #38 X 3/4 50 PM 792
C204018 792084  PAN PHIL SHEET METAL SCREWS 18-8-SS #8 X 1 50 PM 792
C204020 792102  PAN PHIL SHEET METAL SCREWS 18-8-SS #8 X 11/2 50 PM 792
C204024 792138  PAN PHIL SHEET METAL SCREWS 18-8-SS #10 X 3/4 25 PM 792
C204025 792150  PAN PHIL SHEET METAL SCREWS 18-8-SS #10 X1 25 PM 792
C204027 792162  PAN PHIL SHEET METAL SCREWS 18-8-SS #10 X 1 1/2 25 PM 792
C204029 792168  PAN PHIL SHEET METAL SCREWS 18-8-SS #10 X 2 25 PM 792
C204046 792174  PAN PHIL SHEET METAL SCREWS 18-8-SS #10 X2 1/2 25 PM 792
C204047 792180  PAN PHIL SHEET METAL SCREWS 18-8-SS #10 X 3 25 PM 792

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com av. 1



CLAM SHELL PACK (SEEPACK)

TP

FLAT PHILLIPS SHEET METAL SCREWS 18-8SS

PART | paRT# DESCRIPTION siE QT GODE  GODE
C205017 790066  FLAT PHIL SHEET METAL SCREWS 18-8SS #8 X 3/4 50 PM 790
C205018 790078  FLAT PHIL SHEET METAL SCREWS 18-8SS #8 X 1 50 PM 790
C205020 790090  FLAT PHIL SHEET METAL SCREWS 18-8SS #3 X 11/2 50 PM 790
C205025 790138  FLAT PHIL SHEET METAL SCREWS 18-8SS #10 X1 25 PM 790
C205027 790150  FLAT PHIL SHEET METAL SCREWS 18-8SS #10 X 1 1/2 25 PM 790
C205029 790162  FLAT PHIL SHEET METAL SCREWS 18-8SS #10 X 2 25 PM 790
C205046 790168  FLAT PHIL SHEET METAL SCREWS 18-8SS #10 X2 1/2 25 PM 790
C205047 790174  FLAT PHIL SHEET METAL SCREWS 18-8SS #10X 3 25 PM 790

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com aw. 1



CLAM SHELL PACK (SEEPACK)

TP

OVAL PHILLIPS SHEET METAL SCREWS 18-8SS

GRATIN 881 pescrupron 0 W, ey
C206017 791066 OVAL PHIL SHEET METAL SCREWS 18-8SS #8 X 3/4 50 PM 791
C206018 791078 OVAL PHIL SHEET METAL SCREWS 18-8SS #38 X 1 50 PM 791
C206025 791126 OVAL PHIL SHEET METAL SCREWS 18-8SS #10 X 1 25 PM 791
C206027 791138 OVAL PHIL SHEET METAL SCREWS 18-8SS #10X11/2 25 PM 791
C206029 791150 OVAL PHIL SHEET METAL SCREWS 18-8SS #10 X 2 25 PM 791

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com ax. 1



CLAM SHELL PACK (SEEPACK)

T

FLAT PHILLIPS MACHINE SCREWS 18-85S

PART | paRT# DESCRIPTION siE QT GODE  GODE
C211029 771384  FLAT HEAD MACHINE SCREWS 18-8SS 10-24 X 3/4 50 PM 771
C211030 771396  FLAT HEAD MACHINE SCREWS 18-8SS 10-24 X 1 50 PM 771
C211032 771408  FLAT HEAD MACHINE SCREWS 18-8SS 10-24 X 1 1/2 25 PM 771
C211034 771420  FLAT HEAD MACHINE SCREWS 18-8SS 10-24 X 2 25 PM 771
C211051 771600  FLAT HEAD MACHINE SCREWS 18-8SS 1/4-20 X 1 25 PM 771
C211053 771612  FLAT HEAD MACHINE SCREWS 18-8SS 1/4-20 X 1 1/2 25 PM 771
C211055 771630  FLAT HEAD MACHINE SCREWS 18-8SS 1/4-20 X 2 15 PM 771

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

PAN PHILLIPS MACHINE SCREWS 18-8SS
O

PART | paRT# DESCRIPTION siE QT GODE  GODE
C212029 773528  PAN PHIL MACHINE SCREWS 18-8SS 10-24 X 3/4 50 PM 773
C212030 773540  PAN PHIL MACHINE SCREWS 18-8SS 10-24 X 1 50 PM 773
C212032 773552  PAN PHIL MACHINE SCREWS 18-8SS 10-24 X 1 1/2 25 PM 773
C212034 773564  PAN PHIL MACHINE SCREWS 18-8SS 10-24 X 2 25 PM 773
C212049 773768  PAN PHIL MACHINE SCREWS 18-8SS 1/4-20 X 3/4 25 PM 773
C212050 773780  PAN PHIL MACHINE SCREWS 18-8SS 1/4-20 X 1 25 PM 773
C212052 773792  PAN PHIL MACHINE SCREWS 18-8SS 1/4-20 X 1 1/2 25 PM 773
C212054 773804  PAN PHIL MACHINE SCREWS 18-8SS 1/4-20 X 2 15 PM 773

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com az. 1



CLAM SHELL PACK (SEEPACK)

[H:::\\\\\\\\\\\\\\\\\\\\\\\\\\\\1\\\\\\\x\\\‘\\\\\\\% BREAK AWAY SCREWS ZINC

GRATIN 881 pescrupron 0 W, ey
C98001 584353 TRUSS HEAD MACHINE SCREWS BREAK AWAY ZINC 8-32 X 13/4 25 PM 584
C98002 66A044 METRIC MACHINE SCREWS BREAK AWAY ZINC M4-0.70 X 45 25 PM 66A
C98003 66A046 METRIC MACHINE SCREWS BREAK AWAY ZINC M4-0.70 X 61 25 PM 66A

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

ba. 1



CLAM SHELL PACK (SEEPACK)

) > PLASTIC PLUGS

GRATTAN BBI BOX VD FAMILY
PART# PART # DESCRIPTION SIZE QTY CODE CODE
C831002 078012 PLASTIC PLUGS #4-8 100 PM 078
C831004 078022  PLASTIC PLUGS #6-8 100 PM 078
C831006 078032 PLASTIC PLUGS #10-12 50 PM 078
C831007 081040 PLASTIC PLUGS 1/4 25 PM 081
C831008 078042 PLASTIC PLUGS #14-16 25 PM 078

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

bb. 1



CLAM SHELL PACK (SEEPACK)

PLASTIC PLUGS W/SCREWS

===

GRATIN 881 pescrupron 0 W, ey
C831012 K06307 PLASTIC PLUGS W/SCREWS #6 X 3/4 1 PM K06
C831014 K06548 PLASTIC PLUGS W/SCREWS #8 X 7/8 1 PM K06
C831016 K06309 PLASTIC PLUGS W/SCREWS #10 X 1 1 PM K06
C831018 K06310 PLASTIC PLUGS W/SCREWS #14 X 11/2 1 PM K06

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

bc. 1



CLAM SHELL PACK (SEEPACK)

RIBBED PLASTIC ANCHOR W/SCREWS

(L sbmeen

SRATIN 881 pescrupron o ¥ty
C832002 081002 RIBBED PLASTIC ANCHOR PLAIN #6-8 X 7/8 50 PM 081
C832004 K06311 RBD PLSTC ANCHR W/SCRW #4-6-8 1 PM K06
C832006 K06312 RIB PLAS ANCR W/SCREW #10-12 1 PM K06
C832008 K06313 RBD PLSTC ANCR W/SCRW #12-14-16 1 PM K06

4
S
[a
w
w
(7))
XY
53
(a
4
|
m
I
0
=
<<
I
o

bc. 2 “Your Complete Fastener Source”
C. grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

(%-, STRAIGHT PLASTIC PLUGS

PART | paRT# DESCRIPTION siE QT GODE  GODE
C825002 969676  STRAIGHT PLASTIC PLUGS #4 X 1 100 PM 969
C825004 969662  STRAIGHT PLASTIC PLUGS #7 X1 100 PM 969
C825006 969678  STRAIGHT PLASTIC PLUGS #10 X 1 100 PM 969
C825008 969679  STRAIGHT PLASTIC PLUGS 10X 1 1/4 50 PM 969
C825010 969680  STRAIGHT PLASTIC PLUGS #10 X 1 1/2 50 PM 969
C825012 969681  STRAIGHT PLASTIC PLUGS #14 X1 50 PM 969
C825014 969682  STRAIGHT PLASTIC PLUGS #14 X1 1/2 25 PM 969

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

bd. 1



CLAM SHELL PACK (SEEPACK)

E-Z ANCHORS
GRATIN 881 pescrupron 0 W, ey
C888004 R02008 STEEL E-ZANCHORS #8 20 PM R02
C889002 K06314 E-ZANCHOR W/SCREWS PLASTIC #38 X 1 1 PM K06
C889004 K06315 E-ZANCHOR W/SCREWS ZINC #38 X 1 1 PM K06
C889006 K06316 E-ZANCHOR W/SCREWS LITE #6 X 3/4 1 PM K06

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com be. 1



CLAM SHELL PACK (SEEPACK)

||||m PAN HEAD COMBO HOLLOW WALL ANCHORS ZINC

PART | paRT# DESCRIPTION siE QT GODE  GODE
C814002 267010 HOLLOW WALL ANCHORS ZINC 1/8 XS 20 PM 267
C814004 267020 HOLLOW WALL ANCHORS ZINC 1/8 S 20 PM 267
C814006 267050 HOLLOW WALL ANCHORS ZINC 1/8 L 20 PM 267
C814012 267030 HOLLOW WALL ANCHORS ZINC 3/16 S 15 PM 267
C814014 267060 HOLLOW WALL ANCHORS ZINC 3/16 L 10 PM 267
C814020 267042 HOLLOW WALL ANCHORS ZINC 1/4 L 5 PM 267
C814072 272030 HOLLOW WALL ANCHORS DRIVE-TYPE ZINC 1/8 XS 20 PM 272
C814074 272040 HOLLOW WALL ANCHORS DRIVE-TYPE ZINC 1/8 S 20 PM 272
C814076 272025 HOLLOW WALL ANCHORS DRIVE-TYPE ZINC 1/8 L 20 PM 272

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

bf. 1



CLAM SHELL PACK (SEEPACK)

MUSHROOM HEAD TOGGLE BOLTS

GRATIN 881 pescrupron 0 W, ey
C816002 893106 MUSH HD TOGGLES 1//18 X 2 25 PM 893
C816004 893176 MUSH HD TOGGLES 1/8 X3 25 PM 893
C826006 893112 MUSH HD TOGGLE BOLTS 1/8 X4 12 PM 893

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com bg- 1



CLAM SHELL PACK (SEEPACK)

TRUSS HEAD TOGGLE BOLTS

SRATIN 881 pescrupron o ¥ty
C815008 893158 TRUSS HD TOGGLE BOLTS 3/16 X 2 8 PM 893
C815010 893116 TRUSS HD TOGGLE BOLTS 3/16 X 3 15 PM 893
C815012 893162 TRUSS HD TOGGLE BOLTS 3/16 X 4 8 PM 893
C815018 893126 TRUSS HD TOGGLE BOLTS 1/4 X3 10 PM 893
C815020 893128 TRUSS HD TOGGLE BOLTS 1/4 X 4 5 PM 893

4
S
[a
w
w
(7))
XY
53
(a
4
|
m
I
0
=
<<
I
o

ba. 2 “Your Complete Fastener Source”
g. grattanfasteners.com



CLAM SHELL PACK (SEEPACK)

TOGGLE ANCHORS
GRATTAN BBI BOX VD FAMILY
PART# PART # DESCRIPTION SIZE QTY CODE CODE
C822002 084111 TOGGLE ANCHORS & BIT 3/8 10 PM 084
C822004 084112 TOGGLE ANCHORS & BIT 12 10 PM 084
C822006 K06303 PLASTIC TOGGLE ANCHORS 5/8 1 PM K06

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

bh. 1



CLAM SHELL PACK (SEEPACK)

' STRAP TOGGLES
GRATTAN BBI BOX VD FAMILY
PART# PART # DESCRIPTION SIZE QTY CODE CODE
C828002 K06305 STRAP TOGGLES 3/16 1 PM K06
C828004 KO06306 STRAP TOGGLES 1/4 1 PM K06

<
<
o
L
m
9,
4
2
o
1
m
LU
I
(4]
=
<
~
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513 .
grattanfasteners.com bi. 1



CLAM SHELL PACK (SEEPACK)

D:([E NAIL IN ANCHORS

GRATIN 881 pescrupron 0 W, ey
C880006 266030 MUSHROOM STEEL NAIL-IN 1/4 X1 25 PM 266
C880008 266040 MUSHROOM STEEL NAIL-IN 114 X11/4 20 PM 266
C880010 266050 MUSHROOM STEEL NAIL-IN 1/4 X11/2 15 PM 266
C880012 266060 MUSHROOM STEEL NAIL-IN 1/4 X2 10 PM 266
C892006 R14001 MUSHROOM NYLON NAIL ANCHORS 1/4 X1 20 PM R14
C892008 R14003 MUSHROOM NYLON NAILANCHORS 114 X11/2 15 PM R14

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

bj. 1



CLAM SHELL PACK (SEEPACK)

CONCRETE SCREWS BLUE FINISH

PART | paRT# DESCRIPTION siE QT GODE  GODE
C05002 685020  FLAT PHIL CONCRETE SCREWS BLUE 3/16 X 1 1/4 20 PM 685
C05012 685024  FLAT PHIL CONCRETE SCREWS BLUE 3/16 X 1 3/4 20 PM 685
C05022 685028  FLAT PHIL CONCRETE SCREWS BLUE 3/16 X 2 1/4 20 PM 685
C05032 685032  FLAT PHIL CONCRETE SCREWS BLUE 3/16 X 2 3/4 20 PM 685
C05042 685036  FLAT PHIL CONCRETE SCREWS BLUE 3/16 X 3 1/4 20 PM 685
C05072 685040  FLAT PHIL CONCRETE SCREWS BLUE 1/4 X1 1/4 20 PM 685
C05082 685042  FLAT PHIL CONCRETE SCREWS BLUE 1/4 X 1 3/4 20 PM 685
C05092 685044  FLAT PHIL CONCRETE SCREWS BLUE 174 X21/4 20 PM 685
C05102 685048  FLAT PHIL CONCRETE SCREWS BLUE 1/4 X 2 3/4 20 PM 685
C05112 685052  FLAT PHIL CONCRETE SCREWS BLUE 1/4 X3 1/4 20 PM 685

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

bk. 1



CLAM SHELL PACK (SEEPACK)

o me- HEX HEAD CONCRETE SCREWS

PART | paRT# DESCRIPTION siE QT GODE  GODE
C05182 685220 HEX HEAD CONCRETE SCREWS 3/16 X 1 1/4 20 PM 685
C05192 685224  HEX HEAD CONCRETE SCREWS 3/16 X 1 3/4 20 PM 685
C05202 685225 HEX HEAD CONCRETE SCREWS 3/16 X 2 1/4 20 PM 685
C05212 685227 HEX HEAD CONCRETE SCREWS 3/16 X 2 3/4 20 PM 685
C05222 685228 HEX HEAD CONCRETE SCREWS 3/16 X 3 1/4 20 PM 685
C05252 685235 HEX HEAD CONCRETE SCREWS 1/4 X1 1/4 20 PM 685
C05262 685239 HEX HEAD CONCRETE SCREWS 1/4 X 1 3/4 20 PM 685
C05272 685243 HEX HEAD CONCRETE SCREWS 174 X21/4 20 PM 685
C05282 685247 HEX HEAD CONCRETE SCREWS 1/4 X 2 3/4 20 PM 685
C05292 685251 HEX HEAD CONCRETE SCREWS 1/4 X3 1/4 20 PM 685

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

bl. 1



CLAM SHELL PACK (SEEPACK)

< > SCREW COVERS

Wy

GRATTAN BBI BOX VD FAMILY
PART# PART # DESCRIPTION SIZE QTY CODE CODE
C992100 969727 WHITE SCREW COVERS 25 PM 969
C992180 969758 BLACK SCREW COVERS 25 PM 969

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

bm. 1



CLAM SHELL PACK (SEEPACK)

BRASS CUP HOOKS
GRATTAN BBI BOX VD FAMILY
PART# PART # DESCRIPTION SIZE QTY CODE CODE
C095003 11B075 BRASS CUP HOOKS 3/4 25 PM 1B
C095004 11B087 BRASS CUP HOOKS 7/8 25 PM 1B
C095005 11B100 BRASS CUP HOOKS 1 25 PM 11B

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513

grattanfasteners.com

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

bn. 1



CLAM SHELL PACK (SEEPACK)

@;. , COTTER PINS ASSORTMENT

GRATTAN BBI BOX VD FAMILY
PART# PART # DESCRIPTION SIZE QTY CODE CODE
C82000 K06064 COTTER PINS ASSORTMENT SEE-PACK 1 PM K06

<
2
o
w
I,
9,
4
2
(a B
_
|
w
I
(4]
=
<
|
(&)

12825 Carmenita Rd . Santa Fe Springs. CA. 90670 | 1.800.468.9513
grattanfasteners.com

bo. 1



